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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2018 

LIFE SCIENCE 
LSE-05 : PHYSIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Use separate answer-sheets .for Part I and Part II. 
Be brief and precise in your answers. Draw neat 
and labelled diagrams, wherever necessary. 

PART I 

Animal Physiology 

Note : Attempt any five questions. Question no. 1 is 
compulsory. 

1. (a) Differentiate between the following : 	2x1=2 

(i) Facilitated and Active Transport 

(ii) Estrous and Menstrual Cycle 

(b) Give the location and function of the 
following : 	 3x1=3 

(i) Radula 

(ii) Juxtaglomerular Apparatus 

(iii) Salt Gland in Reptiles 
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2. (a) With the help of a labelled diagram, explain 
the 02 - Hb dissociation curve. 

(b) List the factors responsible for shifting the 
02  — Hb dissociation curve towards right. 

3. (a) Describe the process of absorption of fat. 

(b) Define Respiratory Quotient. 	 1 

4. Describe the action mechanism of protein 
hormones. 

5. Discuss the role of calcium and regulatory 
proteins in controlling muscle contraction. 

6. Write short notes on any two of the 
following : 	 2x2 =5 2 
(a) Neurotransmitters 

(b) Excretory System in Insects 

(c) Sex Determination 

(d) Fluid Exchange across the Capillaries 

7. (a) Describe the role of heat exchangers in 

whales. 

(b) Draw a well-labelled diagram of the 
mammalian ovary and list the hormones 

associated with it. 2x2 2  1  =5 
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PART II 

Plant Physiology 

Note : Question no. 8 is compulsory. Attempt any 

four questions from questions no. 9 to 13. 

8. (a) Fill in the blanks in the following 

sentences : 	 2x1=2 

(i) In 1930, Munch proposed 	 

model for the mechanism of 

phloem transport. 

Photoperiodic control of flowering 

depends on the length of uninterrupted 

 period. 

(b) Choose the correct alternative from the 

words given within the brackets : 	2x I =1 
2 

(i) (Auxins/Abscisic acid) inhibits cell 

elongation and cell division. 

(ii) In CAM plants, the stomata remain 

closed during (day/night). 

(c) Define the following terms : (Attempt any 

two) 	 2x1=2 

(i) Symplastic Pathway 

(ii) Diffusion 

(iii) Permanent Wilting Percentage 
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9. Describe the movement of electrons in 
Photosystems I and II during light reactions in 
photosynthesis (with suitable diagram). 

10. (a) Describe the role of any three 

micronutrients in plant metabolism. 	3 

(b) What is the role of leghaemoglobin in 
nitrogen fixation ? 	 2 

11. Write notes on any two of the following : 	2x2 1  =5 2 

(a) Senescence 

(b) Mechanism of loading and unloading of sieve 
tubes 

(c) Mechanism of stomatal opening 

12. (a) Give a brief account of the role of 

Gibberellins in plant growth and 
development. 

(b) Describe the plant's responses towards 
water stress. 

13. (a) Describe the biological responses controlled 
by phytochrome. 

(b) "Photorespiration is a necessary evil." 

Justify the statement. 

LSE-05 



7c .Kfi.i.-05 

	01.1 	 (ft.w1:11.) 

BR* ITNIT 

r, 2018 

Ater 	?Ill 

T6.714.-05-i q11 	4114 

Wel : 2 E7u 	 3M7 t : 50 

7Z: 1177T 131k tuff H f(ik ardir-rardv 3m--,y-Pw3rT 

dlled41 007 l an* 	urwr awr Famr F1-4 
veect w-et apaF e, aet fq=4:9 	37T4 
epflk 

mit 

iiufl 	t-f ti t o il 

4)z: /*.---e ElfW31q4 3-dT eA7 1 3W 4 1 arftref 

1. () riHroRgo A fq* *O-R : 	 2x1=2 

(i) TfraT err k160-1 qgq 

(ii) 	WefT Tt-AT 

	

fail 	cf~ (Z~ cl T etc 	-aviT 	wrzi err 

	

: 	
3x1=3 

(i)  

(ii) Act\Le.l'cl-Atc\ZIt 34chtul (JGA) 

(iii) TrftT11 A ogui A 

LSE-05 	 5 	 P.T.O. 



2. "fq 	k1 11th 	02  - Hb fd"417 -4 

oell(9ell *IN7 I 	 4 

(W) 02  - Hb -N71 -4•4 	TrFil 3 t fismaA 

	

fcit .3rItql41 WT-4 	ki-cflwiF 

3. () 	3r474Efur At 3rWrr 	ttr-A7I 	4 

(T§) 	 IITTFW (RQ) 1:01-TPErT ti-47 I 

4. WITre-T  	I 	 5 

5. 47131 	Azkur 	C'lit1 1-1 	1.‘leiii-ichi0 
311N *t TRIWT*1' f4 -49-41*07 I 

6. -14-1 ism 	4 1-*-qi 	TiNTEr f 	z 41leit 

mgq : 	 2x2 1  =5 
2 

() cn.hm,4141 

(t4) cPe.1 4 

(Tr) IC-fit -Wm 
(Er) *ft wail (Ito fatRI- 

7. tO1 14 dv=4-11 raPii-w44 *1-  it-frrwr iT ciu 	

R I 

(V) 	r aiTpizr 	-11 1-116d r1 AR-r-47 -avrr 	 
#4-RT-d 	1 	q\mil -q-rF I 	 2x2 1  =5 

2 

LSE-05 	 6 



ITTIT II 

	

111-41cr-chiNc&) 	\ 	41 I1 

: TR7 F. 8 31frel741 / 	9 ZLI 13 	A-4T- 
wrfg?-4,4 a-dz ef-47-  

8.   awil 4 fm 1:2TA *r 
*tfA-R : 	 2x1=2 

(i) 1930 4 -4-4- ART  	4i iSC1 

1:4EMIK 	 i 	1Z#R 

Nt-cii (dot u /MT giT 

(ii) TI 	411zrictqfZig, 	 3TR-31-4-4-4 
	qnICIi 3r4fir 	fT chol 

(N) --1-15E54 4 fqR TR f-a-*-Fil 4 	(141.  le< 

2x2=1 =1 

(i) (311141VR-HRich Tr'Eg) caDlchl tE42  

-dwr cr>1Dichi f4 	'T 	cbidi t 
(ii) CAM 	 4 itT (imm) 4 	 

t 

(T) 
	

cl W-1 4 11-  -wer- 	*1- tritim 
few : 	 2x1=2 

(i) fa; 
(ii) rtikuI 

(iii) i-c 	NrCRIcICI I 

LSE-05 
	 7 	 P.T.O. 



2 

2 1  
2 

9. 79-- 	Trka-  sicto1441.-- wr 4 mcbiki 

aTRTWrrall* 	 mchm -4q I AT II 4 
*dm auli*f 	4R 

10. (-w) -1*-41 -et4 114ciTiftiEr0 *1.  14-Kcf .3414'c1q 4 
itrwr 	*Tr-4R I 

-11171-1 tilf.:Achtui 	,;,igiHio GH 	err 
Itrwr ? 	 2 

14-11-Zi 	(go 414 -k-4f 	P.1-Liuft iffftifR 

(i) ItufaT 

	

* ITRur 	ariTrwr A=t 
WART 

(q) i&T-f-gO*Tp4*)-  fitAira 	t4 

12. () Trr-qr fir. -0 trit-444  	Itrwr 
	tr-47 

MO 7-e curia 	sifa 	*r arjWrrall—wr au -1 
W--4R 

13. ()  	Airr-A-ff 	arjiwzriall 
aui•1 A'1r-4R 

(1:4) "mcronei .R.1-r 7* 31-KFM aftcz t I" TR 
waR 	 21 

2 

2x2 1  .5 
2 

LSE-05 
	

8 	 7,000 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

